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Instructions to the Candidates :

1. T OMR STR Y5d UR 31941 U GREIHT $HHldh (10 3ihl BI) 3aey
fored |
Candidate must enter his/her Question Booklet Serial No. (of 10
digits) in the OMR Answer Sheet.

2. ORIEell g MU &Rl | B STR < |
Candidates are required to give their answers in own words as far

as practicable.
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Figures in the right hand margin indicate full marks.

4. YAl B AFYEdD UG B forg weneii o 15 fAee @1 faRad w\a
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15 minutes of extra time has been allotted to the candidates to

read the questions carefully.

g g GReDT & @usl H & — WUs—3I U4 EUs—4q |

This question booklet is divided into two sections — Section-A and
Section-B.

Gus—3 H 100 GG U B, 4 I gl 50 LAl P IR <A
AfEard 21 50 | 3AfH U b IR o R ULH 50 BT B HAlb
HFYR gRT far ST | uds wed & forg 1 ofe feiRa 21 98 SoR
P JUAY T T OMR IR UFd H fQu U |E fAwey &l
el /BTel §fd U9 | We & | fhddl W) YR & @EeR / dRd gared
/ &S / RgA 3Mf &1 OMR IR UFd H GANT HIAT H4T 7, AT
aRUTH IM=T 8T |

In Section-A, there are 100 objective type questions, out of which

any 50 questions are to be answered. First 50 answers will be
evaluated by the computer in case more than 50 questions are
answered. Each question carries 1 mark. Darken the circle with
blue / black ball pen against the correct option on OMR Answer
Sheet provided to you. Do not use Whitener / liquid / blade / nail

etc. on OMR-sheet, otherwise the result will be invalid.

Gus—q H 30 oY IR U 8, " 4 b5l 15 Ul B IR oA
et 2 | ud% ued & forg 2 ofw feiRa B g9a fiRed, g9 @vs
¥ 8 A" IR U ¥ W B, R ¥ fE= 4 Ul #1 SR QA
a2 | 9 & foy 5 3 iR 2|
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In Section-B, there are 30 short answer type questions, out of
which any 15 questions are to be answered. Each question carries
2 marks. Apart from these, there are 8 long answer type questions,
out of which any 4 questions are to be answered. Each question

carries 5 marks.

Pl TR & Soldgi-id IUDHRYT HI YART UidaT dfoid & |

Use of any electronic appliances is strictly prohibited.
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s — 3 / Section - A
J&I~s ue / Objective Type Qestions

T T 1 H 100 IF B URF B A IR fAwed Ry v € R & te 9E 2
f=gl 50 ygl & SR | U gRT Y MV W&l fdbed @1 OMR ¥iie R frfed
BN | 50x1=50

Question No.s 1 to 100 have four options, out of which only one is correct.

Answer any 50 questions. You have to mark your selected option on the
OMR-sheet. 50x1=50

1. Fr=afafed § 90 |99 8IS WYad 9&1 © 2
(A)1 (B) 2
(C)3 (D) 4

Which of the following is the smallest composite number ?

(A)1 (B) 2
(C)3 (D) 4

2. mWT -
(A) Th R F=T (B) To UR®T |w=T
(C) T quiiep e (D) 37 & B T
mis —
(A) an irrational number (B) a rational number
(C) an integer (D) none of these

3. f=faRad & &9 smulRey wam g ?

4

https://www.evidyarthi.in/



e ® 2

© (D) VZ X2
Which of the following is an irrational number ?
e ® 2

(C) (D) V2 x V2

<=

31 ARl @ S0 W0 TUT Ho WO WRIER ¥, A W ¥ —

(A) 34T (B) &R_TeR

(C) HE—3mT (D) \gF

The L.C.M and H.C.F of two numbers are equal. Then the

numbers are —

(A) prime (B) equal

(C) co-prime (D) composite
0.29 =

(A) = (B) —

(€)= (D)5

1 -sin?60° =

(A) 1 (B) -
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(C)~ (D)0

fr=forlRaa & frasr gemad R 9id © ?

(A) = (B) =
(C) % (D) %

Which of the following has terminating decimal expansion ?

(A) = (B) =
(C) % (D) %

fr=forRad & fradr gemad IR I™d © ?

(A) (B) =
(C) = (D) =

Which of the following has non-terminating decimal expansion ?

(A) = (B) =
(C) = (D) =

400 & IIMTRT UGS H 5 BT G & —

(A) 2 (B) 3
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(C)4 (D) 1
The exponent of 5 in the prime factorization of 400 is -

(A) 2 (B)3
(C) 4 (D) 1
10. 3Ife 130 =15x 8 + 10 T1 Ho w0 (130, 15) = HoHO(X, y), qT (X, y) =
(A) (15, 10) (B) (8, 10)
(C) (15, 8) (D) (130, 8)
If 130 = 15 x 8 + 10 and H.C.F(130, 15) = H.C.F(x, y) then (x, y) =
(A) (15, 10) (B) (8, 10)
(C) (15, 8) (D) (130, 8)
11. V125 &7 uRFAAHROT T[oTiH 7 —
(A) V2 (B) V3
(C)V5 (D) 5V5

The rationalizing factor of V125 is -

(A) V2 (B) V3
(C)V5 (D) 5V5

12.  Fr=fafad § d9—1 7 A8 & ?
(A) (9, 16) (B) (15, 20)
(C) (21, 84) (D) (13, 65)
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Which of the following pair is co-prime ?

(A) (9, 16) (B) (15, 20)

(C) (21, 84) (D) (13, 65)
13. Rg® 9gUg # IRIDI B F&AT B T —

(A)3 (B) 2
(C) 1 (D)0
The number of zeros in a linear polynomial is -
(A)3 (B) 2
(C) 1 (D)0
14. 98UT x-1 &1 LIAD & —
(A) 1 (B)O
(C)2 (D) srafRyfee
Zero of the polynomial x-1 is —
(A) 1 (B) 0
(C) 2 (D) undefined
15. f&¥0 fgara 9gue & YIS Ale —4 U4 7 &, A1 fgo1d Igus 8 —

(A) X2 +4x + 7 (B) x2 + 3x — 28
(C) x> —3x—28 (D) x2+ 3x + 28
If zeros of any quadratic polynomial are -4 and 7 then the

quadratic polynomial will be —

8
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16.

17.

18.

(A) X2+ 4x + 7 (B) x2 + 3x — 28

(C) x> —3x — 28 (D) x?+ 3x + 28

U fgoTd 9898 & IUDI DI AN TAT [UHEDHA HA: 5 TAT 6 7, Al

fgend sgus gmm —
(A) x?-5x-6 (B) x> —5x + 6
(C)x%2 +5x— 6 (D) x>+ 5x + 6

The sum and product of the zeros of a quadratic polynomial are 5
and 6 respectively then the quadratic polynomial will be -

(A) x%-5x -6 (B) x2—5x + 6

(C) x? +5x — 6 (D) x>+ 5x + 6

IfE 9898 y?— 6y + 8% YD a AT B &, A a.f HT A BN —
(A)8 (B) -8

(C)6 (D) -6

If « and B are the zeros of the polynomial y?> — 6y + 8 then the
value of a.f is -

(A)8 (B) -8

(C)6 (D) -6

Igus f(x) = 3x? — 7x + 2AT1 f(-1) &1 A € —

(A) -8 (B) 12

(C)-12 (D)0
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19.

20.

21.

The polynomial f(x) = 3x? — 7x + 2 then the value of f(-1) is —
(A) -8 (B) 12
(C) -12 (D) 0

9gUS X2 -3 YID © —

(A)3,-3 (B) V3,-/3

(C)V3,V3 (D) 3, 3

The zeros of the polynomial x2 — 3 are —

(A) 3, -3 (B) V3,-V/3

(C)V3,V3 (D) 3, 3

7 § ¥ B9 6x—2y =0 AT 10x + 2y = 32 FT BT © 7
(A)x=6,y=6 (B)x=2,y=6
(C)x=6,y=2 (D)x=2,y=2

Which of the following is the solution of 6x — 2y = 0 and

10x +2y =32 7?
(A)x=6,y=6 (Byx=2,y=6
(C)x=6,y=2 (D)x=2,y=2

afe Y@ 4x + py = 6 AT 12x + 9y = 15 HFIGR &, Al p & A

SN —

10
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22.

23.

If the lines 4x + py = 6 and 12x + 9y = 15 are parallel then the
value of p will be —

(A) 5 (B) 3

(C)6 (D) -3

TS BT x + 2y = 3, 5x + Ky = 15& 3ARHd 81 89 & forw K

P A T —
(A) S (B) 20
(C)6 (D) 10

The value of K for which the system of equations x + 2y = 3,
5x + Ky = 15 has infinitely many solutions is —

(A) S (B) 20

(C)6 (D) 10

fFeforRaa 5 & o A1 fgard aHiaRT § ?

(A) (X +2) (x—2) =x%—-4x3 (B) (X+2)2=3(x+4)
(C)(2x*+3)=(5+x)(2x-3) (D)2x+ % = 4x°

Which of the following is a quadratic equation ?

(A) (X +2) (x—2) =x%—-4x3 (B) (X+2)2=3(x+4)

11
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(C) (2% +3)= (5+X) (2x=3) (D) 2x+—=4x2

24, fgamd TNHRT pxP+ax+r =0, p£0 & T § —

(A)Qim (B) _Qi\/m
2p 2p

(C) _Qi\/m (D) _Qi\/m
2 2p

The roots of quadratic equation px?+qgx+r = 0, p%0 are

(A) q++q?-4pr (B) -q +/q*—4pr
2p 2p

(C) —-q +/q*—4pr (D) —-q +/q*+4pr
2 2p

25. fgard §HieROT 6x2+6x+1 =0 F el @ Uafd Bl —
(A) IRAMAH IR RO (B) arifdd 8!
(C) arafa® 3R IRTAM (D) ¥ & P 21
The nature of roots of the quadratic equation 6x2+6x+1 =0 is —

(A) real and equal (B) not real
(C) real and unequal (D) none of these
26. FHIHROT 3x2-18x+6=0 & Hl BT AN & —
(A)3 (B) -3
(C)-6 (D)6
The sum of the roots of the equation 3x2-18x+6=0 is —
(A)3 (B) -3

12
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(C)-6 (D)6
27. fgard SR ax?+bx+c =0 (a#0) & o (& X & Johd 81, IS

(A)b=c (B)c=a
(C)a=b (D) 3H & PIg el
The roots of the quadratic equation ax?+bx+c = 0 (a#0) will be

reciprocal of each other, if

(A)b=c (B)c=a
(C)a=b (D) none of these
28. W%ﬁ%1%2w 1581 gg & —
13 15
(A) B
(C)7 (D)~
The 15" term of the AP.: -, 1,2 .2, ... is —
13 15
(A) B
(C)7 (D)<

29. fo=forlRad & i @1 9HfaR A # F8f © ?
1 1 -5 -2 -1
(A)5, 4%, 4,3, .. ®)-1,2,2,2, .

(C) 8, 14, 20, 26, ... (D) 4, 10, 15, 20, ...

13
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30.

31.

32.

Which of the following
(A)5, 4=, 4, 3%, ..
2 2

(C) 8, 14, 20, 26, ...

isnotan A. P. ?
-5 -2 -1
(B)-1,?,?,7,...

(D) 4, 10, 15, 20, ...

I Al AR IS BT U8l US 9 UG ATdI=<R —3 & ol S9db UIH

12 UGJ Bl INThol BN —

(A) 78

(C)-90

If in an A.P., first term
of its first 12 terms is —
(A) 78

(C)-90

FHIAR $IST © 17, 34, 51,

(A) odT

(C) 11 df

Which term of the A.P.
(A) 9t

(C) 11t

JHIIR SIS 51, 48, 45, ...
(A) 14

(C) 17

(B) 90
(D) -78

is 9 and common difference is -3 then sum

(B) 90
(D) -78
.......... BT BT A U 170 & ?
(B) 10 df
(D) 12 @t
:17,34,.51, ...is 170 ?
(B) 10t
(D) 12t
, 6 H UGl BT AT T —
(B) 16

(D) 18

14
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33.

34.

35.

The number of terms in an A.P. 51, 48,
(A) 14 (B) 16
(C)17 (D) 18

45, ...,6is —

0 3R 50 & I favH FIwRN & &1 & —

(A) 25 (B) 26

(C) 24 (D) 27

The number of odd numbers between 0 and 50 is —

(A) 25 (B) 26

(C) 24 (D) 27

Taaior AABC #§ .~ B=90°, AB = /1590, BC=1%¥l0 dem AC =

430 a1 tanA SRR BRTT—

(A) 22 (B)
(C) = (D) 7=

In right AABC, ~B=90°, AB = v/15cm, BC=1Cm and AC = 4cm

then tanA will be equal to —

(A) 22 (B) 22
(C) 7= (D) 7=

Ife cosec@d = KT cos@ &7 99 & —

15
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36.

37.

38.

VKZ+1 VK21

() X (B) ™
©) 7= )

If cosec® = K then the value of cos® is —

(™) B
(C) Klj—l ) KI§+1
selc(z) -

(A) tang@ (B) cos®
(C) seco (D) cosec®
cotx . tanx =

(A) 1 (B) -1
(C)0 (D) 2

gfe cos@=%?ﬁ cosec@ &I 7149 & —

(A)2 (B) =
©2 )+

(A) 2 (B) =
©2 D)+

16
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39.

40.

41.

42.

Ife @ = 45° a1 sec@ + cosec® =

(A) 1

(C)2

If @ = 45° then sec® + cosec® =

(A) 1

(C)2

Ifs V3tanA-3=0dr A=
(A) 90°

(C) 45°

If V3tanA—3 =0then A =
(A) 90°

(C) 45

( sec35° )2 _
cosec550

(A) -1

(C) 1

(B) V2

(D) 22

(B) 60°

(D) 30°

(B) 60°

(D) 30°

(B) 0

(D) 2

fa=foaRaa & feder a9 9e o1fds 8§ ?

(A) cos45°

(C) cot45°

(B) sin0Q°

(D) cos60°
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43.

44.

45.

46.

47.

Which of the following has the maximum value ?

(A) cos45°
(C) cot45°
Sin30° =
(A) 1

C)Z

2
cos?0 -1 =
(A) —sin?0
(C) 0
(1-sec?d) x cot?0 =
(A) 0
(C) -1
Sina x cota =
(A) 1

(C) cos?a

I §= 120 a1 3X cosec?d =
2
(A) 5

(C)4

(B) sin0Q°

(D) cos60°

(B)

N |-

(D) 5

(B) sin?

(D) cot?8

18
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If% = 129 then 3X cosec?0 =

(A) = (B)3
(C)4 (D) 4v3
48.  af sinx + sin?x = 1 AT cos?x + cos*x =
(A) (B);
(C) 1 (D)=

If sinx + sin?x = 1 then cos?x + cos*x =
(A) ; (B);
(C) 1 (D)=

49. fr=feRad # H9—T cosec60°® aRTER B ?
(A) sec30° (B) sin60°
(C) cot30° (D) tan60°
Which of the following is equal to cosec60° ?
(A) sec30° (B) sin60°
(C) cot30° (D) tan60°

50. 3fe cosech — cotd = x a cosech =

(A) x%-1 (B) x%-1

2x 2

xZ+1 xZ+1
(C)=;

19
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51.

52.

53.

o4.

If cosecO — cotd = x then cosecO =

(C) xZ:l (D) x22+1

sec?60° — tan?60° + 1 =

(A) 1 (B) 2

(C) -2 (D)0

cot (90° — A) =

(A) cotA (B) secA
(C) cosecA (D) tanA
(A) sin30° (B) cos60°
(C) tan60° (D) sin60°

IfE Tdh 6 Hicx S G B BRT YAl W 2V/3HeR o= 7, a1 qF @
I BT § —

(A) 15° (B) 30°

(C) 45° (D) 60°

If a pole 6 meter high casts a shadow 2+/3 meter long on ground,
then the angle of elevation of sun is —

(A) 15° (B) 30°

20
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95.

56.

o7.

(C) 45° (D) 60°

fredl MR & o8 15 HAiex 2| W9 PP FT IFIA PIOT 60° B, Al
AR B BRIT &I THIE SHIA W) FT BRI ?

(A) 15 Hiex (B) 15V/3 Hiex

(C) 5v/3 HIeR (D) 453 #rex

The height of a tower is 15 meter. When the angle of elevation of

the sun is 60°, what will be the length of the tower’s shadow on the

ground ?
(A) 15 m (B) 15v/3 m
(C)5vV3m (D) 45v3 m

Fcer® &l & ufoeee g &1 Pel omar § —

(A) gt (B) @ife

(C) 7efag (D) =gty

The point of intersection of the coordinate axes is called —
(A) abscissa (B) ordinate

(C) origin (D) quadrant

fa=g (-6, -8) fvyy ure 4 Reyd & ?
(A) TH UTg (B) fa<iar ur

(C) T urg (D) =rgef re

21
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In which quadrant does the point (-6, -8) lie ?

(A) first quadrant (B) second quadrant
(C) third quadrant (D) fourth quadrant
58. o fa=g & fag P(sing, cosh) @t g & —
(A) 0 3BTE (B) 1 5&T3
(C) 4 g8 (D) 2 e
The distance of the point P(sin@, cos@) from the origin is —
(A) 0 unit (B) 1 unit
(C) 4 units (D) 2 units
50. fagatt R(1, 1) ok S(-1, 5) & & @ & & —
(A) 4V5 goT3 (B) 3v5 gar1$
(C) 2V5 5aT8 (D) 5 PTE
The distance between the points R(1, 1) and S(-1, 5) is —
(A) 4V/5 units (B) 3V/5 units
(C) 2V/5 units (D) 5 units

60. @1 y=8 &I 3MTerd 1 # | v g | 8o 7181 ol —
(A) (1, 8) (B) (4, 8)

(C) (0, 8) (D) (8, 1)

22
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61.

62.

63.

The graph of the line y=8 does not passes through which of the
following points ?

(A) (1, 8) (B) (4, 8)

(C) (0, 8) (D) (8. 1)

fFrfaRad # & S fag verd aqgerier 5 8 ?

(A) (10, 4) (B) (-4, 3)

(C) (-4, -3) (D) (4, -3)

Which of the following points lie in the first quadrant ?
(A) (10, 4) (B) (-4, 3)

(C) (-4, -3) (D) (4, -3)

fa=g A(5, 6) @1 y —3ieT ¥ ddad I & —

(A) 5 5TS (B) 6 gTE

(C) 11 3&TS (D) V61 518

The perpendicular distance of the point A(5, 6) from the y-axis is —
(A) 5 units (B) 6 units

(C) 11 units (D) V61 units

et M(-2, 10) 3R N(-8, 14) &1 Framarh Yards & 7eafig &
e & —
(A) (-10, 24) (B) (6, 1)

(C) (-5, 12) (D) (8, 6)

23
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64.

65.

The coordinates of the midpoint of the line segment joining the
points M(-2, 10) and N(-8, 14) are —

(A) (-10, 24) (B) (6, 1)

(C) (-5, 12) (D) (8, 6)

e fHdl 99 & ™ & BRI & Fawnad (6, —8) 3R (—6, 8) & Al g
T B e § —

(A) (6, -6) (B) (-8, 8)

(C)(0,0) (D) (12, 16)

If (6, -8) and (-6, 8) are the coordinates of the ends points of the

diameter of a circle, then the coordinates of the centre of the circle

are —
(A) (6, -6) (B) (-8, 8)

(C) (0, 0) (D) (12, 16)

figu A(3, 4) 3R B(p, 1) 91 fovg & IARI &, @ p &I AF & —
(A) 2 (B) V6

(C) 6 (D) £2V6

Points A(3, 4) and B(p, 1) are equidistant from the origin then the

value of p is —
(A) 2 (B) +V6
(C) +6 (D) +2V6

24
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66.

67.

68.

fa=gait A0, 8), B(6, 12) 3iR C(-16, -4) & T frywl & &=wa & —

(A) 48 T SPTS (B) 8 Tt gers

(C) 6 i gabrg (D) 4 & 3T

The area of the triangle formed by points A(0O, 8), B(6, 12) and
C(-16, -4) is —

(A) 48 sq. units (B) 8 sq. units

(C) 6 sq. units (D) 4 sq. units

fag A4, -3) 91 B(9, 7) &1 e drel YI@RIS Bl 32 & AU H =<
frIfoa &1 aret fag &1 y —fdena § —

(3X9+2X4) [3X7+2X(-3)]
A) = B) =
[3X9+2X(-3)] [3X7-2X(-3)]
©) =% D) =7

The y-coordinates of a point which divides the line segment joining

A(4, -3) and B(9, 7) in the ratio 3:2 internally is —

(3X9+2X4) [3X7+2X(-3)]
A) = B) =
[3X9+2X(-3)] [3X7-2X(-3)]
S D) =7

AABC ¥ afe A+ C=120afe ar B =
(A) 50° (B) 60°

(C) 70° (D) 90°

25
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69.

70.

71.

In AABC if A+ C =120°then B =

(A) 50°

(C) 70°

A

(B) 60°

(D) 90°

afy AABC T ADEFﬁ—=%Fﬁ?ﬁW€ﬁW—

B
DE
(A) A= _D
(C) A= _F

If in AABC and ADEF, 2= = %<
DE F
(A) A= D

(C) A= _F

BC

afe AABC~APQR 3R == = % ar

QR
(A) 25

(C)=

If AABC~APQR and Z—Z = § then

(A) 25

(C)

Ul =

tan(90° — A) =
(A) tanA

(C) - cotA

26

(B) B = E

(D) B =D

~ then they will be similar when —

(B) B = E
(D) B =D

ar (APQR)
ar(AABC)

(B)S

(D) o=

25

ar (APQR) _
ar(AABC) B

(B)5
(D) =

25

(B) cotA

(D) —tanA
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72. < S @y ¥ DEIIBC.

gfe AD = 5 3#lo, DB = 6 |HI0 D E
dem AE = 8 9¥io @1 EC = 5 c
(A) 5.6 10 (B) 7.6 S0

(C) 9.6 10 (D) 11.6 |HI0

In the given figure DEIIBC.

If AD =5 cm, DB =6 cm and AE = 8 cm then EC =
(A) 5.6 cm (B) 7.6 cm D

(C) 9.6 cm (D) 11.6cm 4
73. Q1 FEHFDIOG Sl H IADI FIT Golisil &I AU Had HAE ST

2| foas @er ?

R (B) ==

(C) smiviee (D) TR

Who said, ‘the ratio of any two corresponding sides in two
equiangular triangle is always the same’ ?

(A) Thales (B) Newton

(C) Aryabhatta (D) Pythagoras

74. U 9 g W P g9 R fhaer el verg @i o dadr € ?
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75.

(A)1 (B) 2
(C)3 (D) e=fid

How many tangents can be drawn to a circle from an external

point ?
(A)1 (B) 2
(C)3 (D) infinite

&1 g oMfd H PA @2r PB &1 wef Y@ O &= dldl g< WR 59 YR
g, f& ZLAPO =40°d1 ZOAB =
(A) 40° (B) 30°

(C) 20° (D) 90°

In the given figure PA and PB are two tangents to the circle with

centre O such that Z/APO = 40° then ~OAB =

(A) 40° (B) 30°
(C) 20° (D) 90°
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76. & T3 MHT H QORI &1 &NF © AT PQ=PR ¥, Al ZPQR =

(A) 90° (B) 60°

(C) 45° (D) 30°

Q R
U

In the given figure QOR is a diameter of a circle and PQ=PR, then

/PQR =
(A) 90° (B) 60°
(C) 45° (D) 30°

P
"/
77. e O &= drel g 4 AB 3R AC & Wy R 9 UaR © fb
/BOC=110° @ ZCAO=

(A) 60° (B) 45°

(C) 35° (D) 150°

https://www.evidyarthi.in/



78.

79.

If AB and AC are two tangents to a circle with centre O such that
/B0OC=110° then ZCAO=

(A) 60° (B) 45°

(C) 35° (D) 150°

g T 9 fodl 90 &1 TRl Y@ @& o1 12 990 8 iR &= 4 T @I
0 13 W0 B, I9 99 B! B § —

(A) 6 ¥Hl0 (B) 12.5 I0

(C) 25 0 (D) 5 &0

From a point T the length of the tangent to a circle is 12cm and the
distance of T from the centre is 13cm. The radius of circle is —

(A) 6 cm (B) 12.5 cm

(C)25cm (D)5 cm

& g rpfa § O g T b= & aur ZQPR=60° a1 ZOQR =

(A) 60° (B) 30°

(C) 120° (D) 400

Q

\\\_///R
In the given figure, O is the centre of the circle and ~QPR=60°

then ~OQR =

https://www.evidyarthi.in/



(A) 60° (B) 30°
(C) 120° (D) 40°
80. 3ifdrs 15, 20, 84, 29, 41, 45, 60, 65 BT URER & —
(A) 69 (B) 65
(C) 84 (D) 15
The range of the data 15, 20, 84, 29, 41, 45, 60, 65 is —
(A) 69 (B) 65
(C) 84 (D) 15
81. 1,2 3, ..Nn ® AR ARG & —
(A)Z +1 (B)
(C)== (D) ==
The arithemetic meanof 1, 2,3, ..., nis —

(A)Z +1 (B)

(C) == (D) ==

82. 3IfT 3 WD = dgAD + x HEY Al x DI A &
(A) 5 (B)>
(C)2 (D)=

If 3 Median = Mode + x Mean then the value of x is
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(A) 5 (B)>
(C)2 (D)=
83. V& 12, 13, 11, 14, 12, 13, 15, 11, 13 &T IgAD © —
(A) 11 (B) 12
(C) 13 (D) 15
The mode of the observation 12, 13, 11 ,14, 12, 13, 15, 11, 13, is—
(A) 11 (B) 12
(C)13 (D) 15
84. afx7,9,13,15, x &1 A 10 B I x BT AN BN —
(A) 6 (B)9
(C) 11 (D) 13
If 10 is mean of 7, 9, 13, 15, x, then the value of x will be —
(A) 6 (B)9
(C) 11 (D) 13
85. fdll geaT @) wiiddr &1 Afdrdan A1 BT & —
(A) 1 (B)O
(C)2 (D)3
The maximum value of probability of any event is —

(A) 1 (B) 0O
32

https://www.evidyarthi.in/



86.

87.

88.

(C)2 (D)~
frr=faRad & o9 W v TeaT @ utlRiear 81 8 9dhar § ?

(A) 50% (B)0.12

13
12

(C)= (D)
Which of the following cannot be probability of an event ?

(A) 50% (B)0.12

13
12

(C)= (D)
T AT YT BT A7 AT 2 T OIS 37 Bl UTHdhdT gFfl —
(A) - (B) -
(C)= (D)=

An unbiased die is thrown then the probability of getting a multiple

of 2 is —
(A) - (B) -
(C)= (D)=

TSI YR H el g T Arel df Tgs! § ¥ Udh U<l Jgeadl [Habrell
ST 8, A1 39 Tl I &I Ul B &I UTisdr g —

(A) - (B)=
(©) 5 (D) 74 @ @I T
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A card is drawn at random from a well shuffled deck of playing

cards, then the probability of getting a red card is —
(A) (B) =
(C)= (D) None of these

13

89. T =ITd Ridd BTl Od & dl dH—d—dhH Th MY 9 BT Ufhan
3
(A) - (B);

(C)

W
—~~
O
o —

S w

Two unbiased coins are tossed then the probability of getting at

least one head is —

(A) - (B);
(C) 5 (D)=

90. 9 Riawl @1 SBIA # |FWa TRV & Fw=T & —
(A) 3 (B) 10
(C)6 (D) 8
The number of possible outcomes by tossing three coins is —
(A)3 (B) 10

(C)6 (D) 8
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91. 8 HHIo 35T dTet 99 & ST BT &FHS BT —
(A) 64 FHI02 (B) 84 %02
(C) 100 w102 (D) 128 w102
The area of a square inscribed in a circle of radius 8 cm is —
(A) 64 cm? (B) 84 cm?
(C) 100 cm? (D) 128 cm?
92. 3T gal & YRRl BT AU 4:5 8, AT g7 &ABAl BT AU BT —
(A) 4:5 (B) 5:4
(C) 16:25 (D) 25:16
The ratio of circumferences of two circles is 4:5 then the ratio of
their areas is —
(A) 4:5 (B) 5:4
(C) 16:25 (D) 25:16
93. It U& wHarg B &1 eawd 9v3 W02 8 a1 39! oIl © —
(A) 6 ¥I0 (B) 3v3 0
(C) 3 @0 (D) V3 %o
If the area of an equilateral triangle is 9v3 cm? then its side is —
(A) 6cm (B) 3v/3 cm

(C)3cm (D)V3 cm
35
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94. 3Ifg Ry denm Ry gl arel & gl & yRE™T &1 A R 3roar arel g
@ IR & RER B, A
(A)R1 + Rz >R (B)Ri+R2=R

(C)R1+ Rz <R (D)R1 + Ry =

N | D

If the sum of the circumferences of two circles with radii R1 and Ro
is equal to the circumference of a circle of radius R then
(A)R1+R2>R (B)R1+R2=R

(C)R1 +R2 <R (D)R: + Rz =

N | X

95. IfT 3@ & Sars R B OF TN & IRh &, @ A B AT &

ST —
(A) 8 T (B) 16 T
(C) 6 T (D) 27 T[T

If the height and radius of the cone are thriced then volume of the

cone will be —
(A) 8 times (B) 16 times
(C) 6 times (D) 27 times

96. r U1 ATl NG & F[A IS BT &THA & —
(A) 4mr? (B) 3mr?

(C) 2nr? (D) 7r?
36
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97.

98.

99.

The total surface area of a hemisphere with radius r is —
(A) 4mr? (B) 3mr?

(C) 2mr? (D) mr?

3 & I BT AT BT —

(A) zh(R? + 12 + Rr) (B) s h(R? + 1)
(C) = m(R? + r?) (D) s mR2rh
The volume of a frustum of a cone is —

(A) zmh(R? + 12 + Rr) (B) s h(R? + 1?)

(C)=m (R +1?) (D) - mR?r%h

IH AR Gl BT AGT<R T BT [STAH a1g — a1s = 32 ?

(A) 4 (B) -4

(C)8 (D) -8

What is the common difference of an A.P in which as — a4 = 327
(A) 4 (B) -4

(C)8 (D) -8

AT BT AT 42 FH0 2 Al SHBT IS &Fhel BN —

(A) 1386 102 (B) 4158 102

(C) 5544 HHI02 (D) 2772 |02

The diameter of sphere is 42cm then its surface area is —
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(A) 1386 cm? (B) 4158 cm?

(C) 5544 cm? (D) 2772 cm?

100. U d9 I a8 14 AH0 © IR da9 & I Fdg Bl &IAh 264

AHI0? B | ZADT I & —
(A) 369 HHI0 (B) 503 &H10°
(C) 296 w#I0° (D) 396 wHI0°
The height of a cylinder is 14cm and its curved surface area is
264cm?. The volume of the cylinder is —
(A) 369 cm?® (B) 503 cm?
(C) 296 cm? (D) 396 cm?
Yvs—g / Section-B

g SR Ue / Short Answer Type Questions.

U AT 1 9 30 Y SR U & | fhl 15 U B SR & | YD b oY 2
3 MuiRa g | 15x2=30
Question Nos 1 to 30 are short Answer Type. Answer any 15 questions.

Each question carries 2 marks. 15x2=30

1. AT nus favA qories & ar gengy f n? -1, 8 | fawrsa 7 |

If n is an odd integer then show that n? -1 is divisible by 8. 2
2. gfFas & fAWTSH USNIRA BT YANT HR 960 TAT 432 BT HO HO S
N |
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Using Euclid’s division algorithm, find the HCF of 960 and 432. 2
JE 99 IS AT ST B Sl 438 AR 606 DI fAWIRTd dall © IR

UAPb SIMT H 6 IYBT <l 2 |

Find the largest number which divides 438 and 606, leaving

remainder 6 in each case. 2

fgama agus 5y? — 13y — 6@ DI Bl AT BN |

Find the zeros of the polynomial 5y? — 13y — 6. 2
fgemd ague x2 + Ox + 20 & IIDT T Ul & I & A B Al
N |

Verify the relation between the zeroes and the coefficient of the
quadratic polynomial x? + 9x + 20. 2
K &1 98 |11 i1 HIfoie {5 forw (y — 1), sgug (2y° + 9y? +y + K)

H Th UGS T |

Find the value of K for which (y — 1), is a factor of polynomial
(2y° + 9y* +y + K) 2
A BN
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10.

11.

12.

13.

fgend THRor 16x2 —8x + 1 =0 F Heol B Uhfr S &N |

Find the nature of roots of the quadratic equation

16x2—-8x + 1 =0. 2

t & 98 99 9d &, e oy fgara aiexor 2y? + ty = -3 @ QI
ol aRIER & |

Find the values of t for which the quadratic equation 2y? + ty = -3
has both equal roots. 2

I FHIAR HET D UAH 51 UG BT AN A R, (o798 TR 3R
U AL 14 AR 18 T |

Find the sum of first 51 terms of an A.P. whose second and third

terms are 14 and 18 respectively. 2
s 2, K, 2 foll R ) @ i FArT ue ®, @ K @1 A s
X |

If g , K, 2 are three consecutive terms of an A.P. then find the

value of K. 2

Zﬁ%’cosecA=§ Bl d cosA 3R tanA &1 919 STd By

If cosecA = % then find the values of cosA and tanA 2

A ST Y —
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14.

15.

16.

17.

4(sin?60° + cos?60°)
tan?45% — c0s%290° + sin90°

Find the value :

4(sin?60%+co0s%60°) 2
tan?45%— c0s290%+ sin90°

g # fb —

(sec?A — 1) (1 — cosec?A) = -1

Prove that

(sec?A — 1) (1 — cosec?A) = -1 2

Rig o &

tan1%.tan2°.tan3° ... tan89° = 1

Prove that :

tan1%.tan2°.tan3° ... tan89° = 1 2

I A iR B =gAGIOT B dAT sinA = cosB B A g N &
A+B=90°

If A and B are acute angles and sinA = cosB then prove that
A+B=90°. 2

Ife 3cotA = 4, dr 294 or A ST Y |

4c0SA—sinA

2cosA+sin
—_— 2

If 3cotA =4, then find the value of

4c0SA-sin
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18.

19.

20.

21.

fdgatl A(-3, 5) 3R B(4, -9) &I Siie ardl vEr@s &l fdg P(2, -5) foa
Ut ¥ o @var € ?

Find the ratio in which the line segment joining the points A(-3, 5)
and B(4, -9) is divided by P(2, -5). 2

afe fag P(a, 0), Q(o, b) @1 R(2, 2) W@ & dr Rig &% & §+%=§
If points P(a, 0), Q(o, b) and R(2, 2) are collinear then prove that

+

2

Q|-
N |-

S

&1 TS el '%=g—g6w4APQ=AACBﬁﬁ|@aﬁ%ABCW

|Afgag P B |

B C
In the given figure 2—2 = g—g and ZAPQ = ZACB then prove that
ABC is an isosceles triangle. 2
s ABC# BC W AD & & @I g o~ &
AB? - BD? = AC? - CD?

In triangle ABC, AD is perpendicular to BC then prove that
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22.

23.

24.

25.

AB2 - BD?=AC?-CD2 2

I O & a1l 9 & 918 favg T | g R & el @ TA T
TB @il 715 © @ g & f& TA = TB.
If TA and TB are two tangents drawn from the external point T to a

circle with centre at O then prove that TA = TB. 2
3roar 28 AHI0 TAT BT BT 45° ATl G & (WS BT &IFhel ST

ol

Find the area of a sector of circle of radius 28 cm and central
angle 45°. 2

T Tfey & F3rear 50 . 2 | Ife g ufdr 66 fhHio Ufd =c &I =
A = el g, dl 20 e § g Ul fba- gdax ol 8 ?

The radius of a wheel is 50cm. How many complete revolutions
does the wheel make in 20 minutes when the wheel is travelling at

a speed of 66 km per hour ? 2

U O BT U UG B &FHel 726 WHI0? T | SHDBI AT SMd BN |

The total surface area of a cube is 726 cm?. Find its volume. 2
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26.

27.

28.

29.

Uh IR G BT IhUSS Bl &Fhel 264 HI0? TAT THDI IMATT 924
03 &, A @HT & SATs SMd N |

The curved surface area of a cylindrical pillar is 264m? and its
volume is 924 m?3 then find the height of the pillar. 2
T UBR ¥ Bl T3 52 Al &I (P Tsel H | Udb ol Hhbledm SIran
2| Tl T BT A UT HRA BT UTABT S B |

One card is drawn from a well-shuffled deck of 52 cards. Find the

probability of getting a queen of red colour. 2

JUSIT JUHTAT BT Teb &R ATGeaAT g1 Sl &, ol g9d ol 3feR

EREIRIEE LIS

A letter of english alphabet is chosen at random then find the

probability that letter is a consonant. 2

= faaRor & AifaeT &1 oM B —

T —3TTRTeA 0—10 10—20 20—30 30—40 40—50
CIECING]) 5 15 30 8 2

Calculate the median from the following distribution 2
Class- 0—10 10—20 20—30 30—40 40—50
Interval

Frequency 5 15 30 8 2
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J—fARTA | 0—2 2—4 4—6 6—8 8—10 10—12
RN 1 2 1 5 6 5

Find the mean of the following distribution 2
Class- 0—2 2—4 4—6 6—8 8—10 10—12
Interval

Frequency 1 2 1 5 6 5

<" SR U9/ Long Answer Type Questions.

U9 G731 9 38 oY SR W & | fhel 4 Ul & SR S| UG & folU 5
3 fRaifRa 21 4x5=20

Question Nos 31 to 38 are Long Answer Type. Answer any 4 questions.

Each question carries 5 marks. 4x5=20

31.

32.

AT fafer & gt AN -

x—y=1,2x+3y=12.

Solve graphically : x —y =1, 2x + 3y = 12. 5

Uh MR & UG W U Ha= & RRER BT I PIvT 30° © Ha= & UG
A ¥R & RRER BT ST BT 60° & | Al AFR & SHarg 60 0 81
ar wae B HArg AT BN |
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33.

34.

35.

36.

The angle of elevation of the top of a building from the foot of the
tower is 30° and the angle of elevation of the top of the tower from
the foot of the building is 60°. If the tower is 60m high, find height of
the building. 5

g ® b afe fedl B[St &1 T Yoil & HHOR Ueb @1 Wil I,

a1 o <) T TH A e R 8 o )

Prove that if a line is drawn parallel to one side of a triangle, the
other two sides are divided in the same ratio. 5}
fearsy & fa=g (-1, -2), (1, 0), (-1, 2) 3R (-3, 0) T of & oM 7 |
Show that the points (-1, -2), (1, 0), (-1, 2) and (-3, 0) are the
vertices of a square. 5

Udh fohdhe S & P 7 7 dool TAT 6 I 3800 WO H WG| 91 H
IHT 3 Fool TAT 5 TG 1750 W0 H WRIGI | YD docd AR YD I B
e S B |

The coach of a cricket team buys 7 bats and 6 balls for Rs. 3800.

Later he buys 3 bats and 5 balls for Rs. 1750. Find the cost of

each bat and each ball. S

gfe sech + tand = m d1 Rig X P sind =2z:

If secd + tan6 = m then prove that sing = mz_ - S
m<+1
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37. 4 W0 B & Uh g WR U &l Wl N Wi Sl iRER 600 B
BT TR a2 |
Draw a pair of tangents to a circle of radius 4 cm which are

inclined to each other at an angle of 60°. 5
38. UH o R 120 W0 g 3R 60 WHI0 B9 arall Udb G
affaferd 8, ST 60 WHI0 BT aTel Udh 3G el IR IMRIUT 2| 39 o

DI U H WX U UG o9 I 99 H 59 UBR dddd Slel [SaT SIIar §
fb & doT B el B W PN | IfQ do= B AT 60 WHIO & IR
ST 180 WHI0 B AT Jol H WY g UFT DI AT A D |

A solid consisting of a right circular cone of height 120 cm and
radius 60 cm standing on a hemisphere of radius 60 cm is placed
upright in a right circular cylinder full of water such that it touches
the bottom. Find the volume of water left in the cylinder, if the

radius of the cylinder is 60 cm and its height is 180 cm. 5
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